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Q)The solution of the differential

equation
d—y=cos(y—x)+1is
dx
a)e*[sec(y — x)—tan(y — x)]=c
b)e*[sec(y — x)+ tan(y — x)]=c

(
(
(c)e*sec(y —x)tan(y — x)=cC
(d)e* =csec(y — x) tan(y — x)
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Q)The solution of the differential
equation
dy

— =cos(y — x)+1is
dx

a)e*[sec(y —x)—tan(y — x)]=c
b)e*[sec(y — x)+ tan(y — x)]=c
c)e*sec(y —x)tan(y —x)=c
d) e =csec(y — x) tan(y — x)

(
(
(
(

Ans: (a)
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Q) The degree and order of the differential equation of the
famaily of all parabolas whose axis 1s x - axis, are respectively.

(a) 2.3 (b)y 2.1 (c) 1.2 (d) 3.2.
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Q) The degree and order of the differential equation of the
famaily of all parabolas whose axis 1s x - axis, are respectively.

(a) 2.3 (b)y 2.1 (c) 1.2 (d) 3.2.

Ans: (c)
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Q) What 1s the degree of the differential equation

(@) 1 (b) 2
(c) -1 (d) Degree does not exist.
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Q) What 1s the degree of the differential equation

(@) 1 (b) 2
(c) -1 (d) Degree does not exist.

Ans: (b)
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Q) What does the differential equation yj—y +x=a
X

(where «a 1s a constant) represent?
(@) A set of circles having centre on the Y-axis
(b) A setofcircles having centre on the X-axis

(¢) A setofellipses ( g, )
(d) A pair of straight lines . ”

‘ —
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Q) What does the differential equation yj—y +x=a
X

(where «a 1s a constant) represent?

(@) A set of circles having centre on the Y-axis
(b) A setofcircles having centre on the X-axis
(c) A setofellipses

(d) A pair of straight lines

Ans: (b)
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Q) If the solution of the differential equation

dy ax+3

dx 2y+ f

represents a circle, then what 1s the value of a?
(@) 2 | (b) 1

© -2 (d -1
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Q) If the solution of the differential equation

dy ax+3

dx 2y+ f

represents a circle, then what 1s the value of a?
(@) 2 (b) 1

© -2 (d -1

Ans: (c)
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Q)What is the order of the differential

equation of all ellipses whose axes
are along the coordinate axes?

(a) 1 (D) 2
(c) 3 (d) 4
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Q)What is the order of the differential

equation of all ellipses whose axes
are along the coordinate axes?

(a) 1 (D) 2
(c) 3 (d) 4

Ans: (b)
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Q) What is the differential equation of

B
y=A--—"
X

@axy, +y;, =0 (O)ay, +2y, =0
C)xy, —2y3 =0 (d)2xy, + y; =0

AR

d
7 d

pa

x*( _dfé',)
d

18«

- B 1(10‘2*‘%'} -

4 (o -0



NDA 1 2025 LIVE CLASS - MATHS - PART 4

Q) What is the differential equation of

B
y=A--—"

X
@axy, +y;, =0 (O)ay, +2y, =0
C)xy, —2y3 =0 (d)2xy, + y; =0

Ans: (b)
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Q) A particle starts from origin with a
velocity (in m/s) given by the
equation -d—x- = x + 1. The time (in

L
second) taken by the particle to
traverse a distance of 24 m is

(a) In24 (b) In5
(¢)2In5 (d)2In4
lo 1.”) -t +¢C
d1_ - T+ d (
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Q) A particle starts from origin with a
velocity (in m/s) given by the
equation -d—x- = x + 1. The time (in

L
second) taken by the particle to
traverse a distance of 24 m is
(@) In24 (b) In5
(¢)2In5 (d)2In4

Ans: (c)
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Q) What is the degree of the following
differential equation?

O w N =

egree is not defined 12—
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Q) What is the degree of the following
differential equation?

(a) 1
(b) 2
(c) 3
(d) Degree is not defined

Ans: (a)
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Q) What is the solution of the differential equation
In (Q) =ax+by?

dx
ax by _ 1 ax 1 by _ --L ax
(a) ae® + be™” =C (b)ge + o Y =C C - ¢ ] e
(c) ae® + be™¥ =C (d) geax + %e‘b” =C -6 &
o W gy
C{ - e/axf'bi } / JJ -
ix Y
by gy = [ eMdx
dgg - eax-ﬂéd( | je fd /
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Q) What is the solution of the differential equation
In (Q) =ax+by?

dx
(3) a6 + pe! = C o) Lea= + 1oty ¢
a b
(c)ae® + be~¥ =C (d) Teor 4 %e‘b” =C
a

Ans: (d)
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Q)What is the solution of the differential equation
dx _x+y+1,

dy x+y—-1

@y—-—x+4In(x + y)=C B)y+x+2In(x+ y)=C
C©)y—-x+In(x+ y)=C dy+x+2In(x+y)=C

Taf =t A, -t

di {-
Ay =ar ’
i dx de -t o et
dt —p = dr {9t t-/
dr di _d..[:. = -iz_é_.
X +-
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Q)What is the solution of the differential equation
dx _x+y+1,

dy x+y—-1

@y—-—x+4In(x + y)=C B)y+x+2In(x + y)
C)y—-x+In(x+ y)=C dy+x+2In(x+ y)

C
C

Ans: (c)
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Q)Match List I (Differential equation) with List II
(Its solution) and select the correct answer using the Codes
codes given below the lists. A

B¢ @

List I List II (@) 3 2 1 4

(b) 4 1 2 3

A. yy' =sec’x 1. y sec® x =secx + C (¢c) 3 1 1 2
B. y'=xsecy 2. xy=sinx+C @ 3 : 4 !
C. y+(2tanx) y=sinx | 3. y*=2tanx+C all

D. xy'+ y=cosx 4. x> =2siny+ C a’f}?’cvzn/‘
/
i = o dY g - o

Aineay o(/ffennf/'a/ gn:, a4 Pd’ =0 ondhwfs o f[ﬂ
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Q)Match List I (Differential equation) with List II Codes

(Its solution) and select the correct answer using the A
codes given below the lists. (a) 3
(b) 4
List I List 11 ) 3
’ 2 9 (d) 3
A. yy' =sec” x 1. ysec® x=secx+C
B. y'=x secy 2. xy=sinx+C

C. y+(2tanx) y=sinx | 3. y*=2tanx +C

D. xy'+ y=cosx 4. x> =2siny+ C

Ans: (c)
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Q) What does the solution of the differential equation
xdy — ydx = 0represent?
(a) Rectangular hyperbola
(b) Straight line passing through (0, 0)
(c) Parabola with vertex at (0, 0)
(d) Circle with centre at (0, 0)

ﬁ"ﬂx = 0 g % ffmgblf
l‘{df =de
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Q) What does the solution of the differential equation
xdy — ydx = 0represent?
(a) Rectangular hyperbola
(b) Straight line passing through (0, 0)
(c) Parabola with vertex at (0, 0)
(d) Circle with centre at (0, 0)

Ans: (b)
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Q) The general solution of the differential equation
dy . [x + y) . (x — y] :
—~ + sin = sin 1S

dx 2 2
(y\
(@) logtan | = [=C - 2 sinx
-
(b) log tan Yl=c-2 sin[x]
4 ) 2

.
(c) logtan y+n)=C—QSinx
2 4

p
(d) log tan Yy - 2sin X
4 4 2
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Q) The general solution of the differential equation
dy . [x + y) : (x — y] :
—~ + sin = sin 1S

dx 2 2
(y\
(@) logtan | = [=C - 2 sinx
-
(b) log tan Yl=c-2 sin[x]
4 ) 2

.
(¢) logtan y+n)=C—QSinx
2 4

p
(d) log tan Yy - 2sin X
4 4 2

Ans: (b)
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Q)Which one of the following equations represents the
differential equation of circles, with centres on the
x-axis and all passing through the origin?

d 2 .2 J 2 2
() X =2 "7 b) > =" "7
dx 2xy dx 2xy
2 2
(C)@zy X (d)ﬂz_f

dx 2xy dx y
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Q)Which one of the following equations represents the
differential equation of circles, with centres on the
x-axis and all passing through the origin?

d 2 2 J 2= 2
(a) X =22 () X ==
dx 2xy dx 2xy
2 .2
(C)@zy x (d)ﬂz_f
dx 2xy dx y

Ans: (c)
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Q)What i1s the degree of the differential equation

(a) 2 (b) 3 (c) 4 (d) 5
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Q)What i1s the degree of the differential equation

(a) 2 (b) 3 (c) 4 (d) 5

Ans: (c)
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Q) The solution of the differential equation
dy Y 1.
— + =18

dx xlogx x

1

(a) y =§logx+ Cllogx)™ () y =1logx + Clogx)™?

1 C 1 4
c) y=—logx + d) y=—logx - C (logx
©) vy 5108 (log 27 (d) ¥ 5108 (log x)



NDA 1 2025 LIVE CLASS - MATHS - PART 4

Q) The solution of the differential equation
dy Y 1.
— + =18

dx xlogx x

1

(a) y= 5 logx + Clogx)™ (b) y=1logx + Cllogx)™

1 C 1 )
c) y=—logx + d) y=—logx - C (logx
©) vy 5108 (log 27 (d) ¥ 5108 (log x)

Ans: (a)
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Q) What is the equation of the curve passing through

the point (0, %] satisfying the differential equation

sin x cos y dx + cosx sin y dy = 07

(a) COS-’XJCOSJ’=§ (b) s.=;i]:1:)c:siny=?3

(c) sinxsin y =% (d) cos x cos yzé
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Q) What is the equation of the curve passing through

the point (0, %] satisfying the differential equation

sin x cos y dx + cosx sin y dy = 07

(a) COS-’XJCOSJ’=§ (b) s.=;i]:1:x:siny=?3

(c) sinxsinyz% (d) cos x cos yzé

Ans: (d)
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Q) Which one of the following differential equations

represents the system of circles touching the y-axis at
the origin?

(A (70
(a) x° + y* — 2xy @ =0 (b) 2% + y? + 2xy @ =0

\dX) \d:c)

() ( Tn)
(c)xz—y2+2xy @ =0 (d)xz—yz—zxy v =0

\dﬁ‘l’)) \d.’)ﬁ)
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Q) Which one of the following differential equations

represents the system of circles touching the y-axis at
the origin?

(A (70
(a) x° + y* — 2xy @ =0 (b) 2% + y? + 2xy @ =0

\dX) \d:c)

() ( Tn)
(c)xz—y2+2xy @ =0 (d)xz—yz—zxy v =0

\di‘l’)) \d.’)ﬁ)

Ans: (c)
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Q)The order and degree of the differential equation

\N2/3 3
(1+3d—J) =4d ) are
| dx Ay’

2
(©) (G.3) d) (1.2
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Q)The order and degree of the differential equation

\N2/3 3
[1+3d—3_) =4d ) are

dx dx3

2
@ (.3 ®) G.1
© @3.3) (d) (1.2)

Ans: (c)
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